SOLVING BASIC TRIGONOMETRICAL EQUATIONS.
MODEL EXAMPLES.
1. Find the general solution of the  

    equation:     
          8 + 2sin(3x) = 7

and find all solutions in  0 ( x ( 3600

Solution:

                  2 sin 3x  =  – 1 

                     Sin 3x = – ½

                                           (basic( = 300)


 3x = 210 + 360n    &    330 + 360n

Gen sol is :

   x =  70  + 120n    &    110 + 120n

Solutions in 0 ( x ( 3600   are :

x = 70, 190, 310  &  110, 230, 350
_________________________________
2.

Find the general solution of the equation :   

      7.6 + 2.7sin(2x) = 9.2

and find all solutions in  0 ( x ( 3600

Solution:

                      2.7 sin 2x = 1.6

                            sin 2x = 0.59259259..


2x = 36.34 + 360n    &  143.66 + 360n
Gen sol is :

  x = 18.2 + 180n   &   71.8 + 180n

Solutions in 0 ( x ( 3600   are :

x =  18.2, 198.2,  &  71.8, 251.8
Please solve the following equations in your books, as fully as the examples above. You will need a calculator when the “special triangles” do not apply.
1.   9 + 4sin(2x) = 11
2.   7.3  +  2.5 sin x =  8.4
3.      √2 sin (4x)  = 1

4.       2 sin(3x)  = √3

5.      8 + 3 tan (x) = 5
6.      5 + 6 cos x  =  8
7.       7  +  8 cos x =  10
8*.      2 sin( x – 200) = √3 
9.       tan (x + 400) = √3

10.   The depth of the water d, in an estuary at t hours past mid day is given by :     d =  8.3 + 1.9 cos( 28.8 t)

(a) Find the maximum depth

(b) Find the minimum depth

(c) Find the period

(d) Find for how long the water is deeper 
    than 9 metres in each tide.
